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S AITHE AR Tt 14,668,846 7,343,317 7,325,529
BHSAAH (S ANL AL D) (OIEH/IIE) 35,248 38,767 £3,519
22l 35,248 38,767 £3,519
ol 22| 35,248 38,767 £3,519
201 L2 | 13,421 14,848 A1,427
01 At 2reltl 13,421 14,848 A 1,427
OART2IH o 4 E2E ~1,427,0008! A1,427 0 A 1,427
202 04| 18,827 20,919 £2,092
NETTT 18,827 20,919 £2,002
O=oitl laE2E ~2,092,000% £2,092 0 £2,002
MRIIBIAIE SHE(ZELX AN /LHER) 31,224 31,324 A100
FPEZT S Y (BYNWLAMLSHEA) 31,224 31,324 A100
gy X 900 1,000 A100
202 01t 900 1,000 A100
01 2ot 900 1,000 A 100
ORIl Haz2e ~100, 0002 A100 0 A100
Mt JIBES (FELX AN /LHER) 136,060 138,400 £2,340
TP e 136,060 138,400 £2,340
N RESE 136,060 138,400 £2,340
201 Lt | 2,700 3,000 £300
01 At 2reltl 2,700 3,000 £300
OART2IH O 4 E2E ~300, 0008 A300 0 A300
202 04 | 4,860 5,400 540
01 2LHO! bl 4,860 5,400 540
O=oitl laE2E ~540, 0008 A540 0 540
207 &R p Lt 128,500 130,000 A1,500
01 P B 128,500 130,000 £1,500
OPS AL HaE2E ~1,500,0008! A1,500 0 A1,500
SNEHBRA(IELNANL /XL EAI) 2,608 2,840 ~232
YNELH™O 5E2H 22l 2,608 2,840 £232
SESSEL 2,608 2,840 £232
202 01 H| 1,620 1,800 £ 180
01 =01l 1,620 1,800 A 180
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O=0oitl HaE2E ~180,000% 180 0 2180
203 Y2 E Tt 988 1,040 A52
03 AIMEX LR F T 988 1,040 A52
ONBFRLDETHY WAELE 52,0008 A52 0 A52
2E9 58X PU(RELXNAML/NALSAI) 2,083,360 2,586,020 £502,660
SAHHAY (BYNLALSESIH) 2,083,360 2,586,020 £502,660
oY SSXT HXMLAY 2,083,360 2,586,020 £502,660
201 Yure A | 124,540 127,200 A2,660
01 At 2+2l 123,400 126,000 A2,600
OMSB2IH aE2E ~2,600,0002 ~2,600 0 ~2,600
02 BBl 1,140 1,200 60
OZzsgul uEAE -60,0002 £60 0 £60
401 Al & HI L S CHHI 1,958,820 2,458,820 500,000
01 Al&H 1,950,000 2,450,000 500,000
0%y SSXP XML AY 1,950,000 2,450,000 A500,000

—oyg SEXNT AXMLAML (1)
1,950,000,000! *14! 1,950,000 2,450,000 A500,000
MEXE FR(ZELNANL /LY A 2,700 3,000 A300
INE=DEIESS 2,700 3,000 A300
AgRE Fx 2,700 3,000 A 300
202 01 2,700 3,000 A 300
01 20t 2,700 3,000 A300
O=uoitl oaE2E ~300,000€ A 300 0 A 300
CEENOEEVCEED 10,627,646 2,792,966 7,834,680
OlHIH (2SHLASSEEIH) 10,627,646 2,792,966 7,834,680
ol 81 Bl 10,627,646 2,792,966 7,834,680
801 011 b 10,627,646 2,792,966 7,834,680
01 Erolltl bl 10,627,646 2,792,966 7,834,680
OBAMWLALSE3I ol bl

10,627,646,0002 10,627,646 2,792,966 7,834,680




